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void  *ipx_spx(void);
int IPX__SPXInstalled(void)

{
union REGS regs}
struct SREGS sregs; -
regs.x.ax = 0x7a00;
int86x{(0x2f,&regs,&regs,&sregs);
if(regs.h.al!= OxfDreturn —1;
ipx__spx = MK__FP(sreg.es,regs.x.di);
__BX=0x0010;
— AL = 0x00;
ipx__spx(;
if{__AL= = 0x00)return 0;
return 1;

}
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int IPXGetLocalTarget(void) BH B xS ANBEER
int IPX__SPXInstalled(void) ¥l IPX / SPX
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int IPXOpenSocket(WORD socketnumber) #TH —AZ 0O

int IPXCloseSocket(WORD socketnumber) 3 H—AFE# N

vaid IPXRelinquishControl(void) % IPX 4B F #:85 CPU HH]

int GetInternetAddress(BY TE connectionnumber) & [B] 35 /5 B 2%
ST R AL

int GetConnectionInfo(CHAR * who) B[ £5 % H /5 A WE#E

S :

void IPXSendPacket(ECB * eventCB) $h47 R %15 8 W Ihik

void IPX ListenForPacket(ECB * eventCB) #hiT# I {5 8 L IhARE
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ftinclude <stdio.h>
Hinclude <conio.h>
ttinclude <string.h>
Hinclude <dos.h>
#tinclude <bios.h>
Frinclude <stdlib.h >
Finclude “ipx_spx.c”
#define OK 0
typedef unsigned char BYTE;
typedef unsigned int WORD;
typedef unsigned long LONG;
BYTE databuffer[80);
BYTE netaddress[4]= {0,0,0,0};
BYTE nodeaddress{6]= {Oxff,0xfT,0xfT,0xfF,0xff,0xff};
typedef struct IPXaddress

{
BYTE network[4];
BYTE  node[6];
BYTE socket[2];
}IPXaddress;
typedef struct IPXheader
{
WORD
WORD
BYTE
BYTE
BYTE
BYTE
WORD
BYTE
BYTE
WORD
}HPXheader;
typedef struct ECB

{

void far

checkSum;
length;
transportControl;
packetType;
destnet[4];
destnodel6];
destsocket;
sournet[4];
sournode[6];

soursocket;

* link;
* ESRaddress;
inUseFlag;

void far
BYTE
BYTE
WORD
BYTE
BYTE
BYTE
WORD

struct {

completionCode;
socketNumber;
IPXworkspace[4];
driverWorkspace[12];
immediateaddress[6];

packetCount;

void far * address;
WORD length;
}packet|2);

YECB;
ECB initialECB;
IPXheader initiallPXheader;
void far ( * ipx__spx) (void);
main(int argc,char * argv{ )
{

if((argc>3) (argc<2){
pﬂntfi” IF RECEIVE DATA PRESS IPXCOMM / r\n”");
printf(“IF SEND DATA PRESS IPXCOMM / s <lanname> AN
n");
exit(1);

}

if (stricmp(argv{1},” / P N{
MainListen( );
exit(1);

© HEFRRELRAT

http://www.c-s-a.org.cn



RRIEERAR HHHNMRLEREA 1994 NO.8
} IPXListenForPacket(&initialECB);
if(stricmp(argv{1],” / s")){ while(1)

MainSend(argv[2]); {
exit(1); if(!initialECB.inUseFlag)
} if(tinitial ECB.completionCode)
} printf{” %s ¥ n” databuffer);
MainSend(char * targetname) }
{ }
int status; SetupRevPacket(void)
WORD targetSocket = 0x5555; {
BYTE tar getCon’n; memset{&initial ECB,0,sizeof(struct ECB));
status = IPX__SPXInstalled( ); memset(&initiallPXheader,0,sizeof(struct IPXheader));
if{status!= 1) { initialECB.socketNumber = 0x5555;

printf("IPX not instalied”); initialECB.packetCount = 2;

return ;} initialECB.packet[0].address = &initialIlPXheader;

ta_lrgetConn = GetConnectionInfo(targetname); initialECB.packet[0].length = sizeof(struct IPXheader);

if(! targetConn) initialECB.packet[1].address = databuffer;

{ initialECB.packet[1).length = sizeof{databuffer);
printf("\.tTarget User %s do not Logged in.\.n” targetname); }
return ; SetupSendPacket(void)

} {

GetlnternetAddress(targetConn); inti;

printf("\tSend data to %s "\ n” targetname); memset(&initia]ECB,0,sizeof(struct ECB));

databuffer(0]=0; initial ECB.socketNumber = 0x5555;

status = IPXOpenSocket(targetSocket); i=IPXGetLocalTarget( );

SetupSendPacket( ); iffi! = O)return;

IPXSendPacket(&initial ECB); initial ECB.packetCount = 2;

while(initial ECB.inUseFlag! = OK) initial ECB.packet[0].address = &initiallPXheader;
IPXRelinquishControl( ); initial ECB.packet[0].Jength =sizeof(struct IPXheader);

iflinitial ECB.completionCode! = OK) initial ECB.packet[1}.address = databuffer;
printf(”Send error, status = %x”, initial ECB.completionCode); initialECB.packet[1].length = sizeof{databuffer);
return; initiallPXheader.packetType = 4;

} memcpy(initiailPXheader.destnet,netaddress,4);
} memepy(initialiPXheader.destnode,nodeaddress, 6);
MainListen( ) initiallPXheader.destsocket = 0x5555;
{ }

WORD targetSocket = 0x5555;
int status;
char prob[80};
printf("\(t Receive Data I\\n”);
status = [PX__SPXInstalled( );
if(statust=1) {
printf("IPX not installed!”);
return ;}
SetupRcvPacket( );
status = IPXOpenSocket{targetSocket);
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